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QUESTION 1

Which two statements are true concerning FlexClone volumes? (Choose two.)

A. A FlexClone volume can be created in a different aggregate than the parent volume if space is an issue.
B. A FlexClone volume is created with the same language setting as its parent.

C. A FlexClone volume is created, any LUNs present in the parent volume are already online and mapped.
D. A FlexClone volume is a point-in-time, writable copy of the parent FlexVol volume.

Correct Answer: BD

Reference:
https://library.netapp.com/ecmdocs/ECMP1196986/html/GUID-284A0B23-DE4D-4E97-B333EF4646D2CB1D.html

QUESTION 2

You order a FAS8200 cluster with 4 TB SATA drives. Before executing the cluster setup command, you notice that ADP
is not being used.

In this scenario, which statement is correct?

A. Halt the nodes and configure ADP at the LOADER-X> prompt.

B. Complete the cluster setup and use OnCommand System Manager to configure ADP.
C. While executing the cluster setup command, reconfigure the disks to use ADP.

D. Halt the nodes, boot to the special boot menu, and configure ADP.

Correct Answer: D

QUESTION 3

A customer created a new volume on an SVM for testing. During the first day of testing, the customer copied data to the
volume using NFS and consumed 75% of the free space. The second day of testing required the existing data to be
deleted and replaced by an equal amount of different data. During the copy, an error message stated that the volume
was full.

What would explain the observed error?

A. The user did not have permissions to the export.

B. The client lost connectivity to the export.

C. Vscan stopped the write due to an infection.

D. The old data is still contained within a snapshot.
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Correct Answer: B

QUESTION 4

Click the Exhibit button.
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You are troubleshooting HA interconnect link connection errors.

Referring to the exhibit, which physical connections should you examine?
Al

B. 3B

C.3A

D.2

Correct Answer: C

QUESTION 5

A customer has a company-wide power outage scheduled and needs to gracefully power off a 2-node cluster.
In this scenario, which of two steps should be performed? (Choose two.)

A. Use the halt -node * -skip-lif-migration-before-shutdown true -inhibit-takeover true command.

B. Invoke an AutoSupport message to indicate a planned maintenance time.
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C. Use OnCommand System Manager to halt the controllers.
D. Use the halt -node * command.
Correct Answer: AD

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2492713
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